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1 |dtiE
2 |EHE
3 |AFE
4 |EHE
5 (AR
6 [ILZE 1.7E+1 17.0 5.4E+1 54.0 71.0
7 [EER
8 |ZWE 7.0E+0 7.0 2.5E+2 250.6 257.6
9 |HAE 2.0E+0 2.0 1.8E+2 183.0 185.0
10 [HER 7.0E+3 6,981.0 6,981.0
REEET! 1.4E+0[ 1.0E-1 15 2.6E+3 2,621.0 26225
12 |FER 1.9E+3 1,889.0 1,889.0
13 |REHR 2.2E+3 2,200.0 2,200.0
14 |[#E)E 53E+1| 1.9E+3 1,916.8 1,916.8
15 |FiRk 1.5E+1 15.0 15.0
16 |[EWE 2.5E+3 2,500.0 2,500.0
17 |BINE 4.8E+3 4,760.0 4,760.0
18 |f&@HE 1.6E+1| 1.7E+3 1,690.0 1,690.0
19 [ILEE
20 |RHE
21 KRR 3.1E+3 3,100.5 3,100.5
22 |EEEIR 2.2E+0 2.2 2.6E+3 2,614.9 2,617.1
23 |EBHR 1.1E+3 1,141.8 1,141.8
24 |=ZER 4.4E+3 4,367.0 4,367.0
25 |HER 6.0E+1 60.0 1.9E+2 185.0 245.0
26 |FARRT
27 | KBRAF 7.0E+0 7.0 1.5E+3 1,486.8 1,493.8
28 |EER 1.0E+2 101.2 101.2
29 |ERR 9.0E+0 9.0 9.0
30 |FOERILE 3.2E+2 320.0 320.0
31 |BHRE
32 |BRE
33 |FWE
34 |LER
35 |lLOR
36 |EER
37 |BNR
38 |BER 9.5E+1 95.0 1.3E+3 1,310.0 1,405.0
39 |EER
40 |fERR 1.1E+1 11.0 11.0
41 |*EER 9.0E+1 89.6 89.6
42 |RIBR 6.3E+2 630.0 630.0
43 |EEARER 1.0E+3 1,000.0 1,000.0
44 | KHR 41E+1 41.0 41E+2 4100 451.0
45 |BIBR 9.5E+2 950.0 950.0
46 |EEER
47 |[HiER
£ H 2.3E+2| 1.0E-1 232.7 6.9E+1| 4.3E+4 42,787.2 43,019.9
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